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Q15) A wire of 2 m length and 4 mm” cross-section area is made of a material

with a resistivity of 6 x 10~8 Q-m. The resistance of the wire is:

a. 120mQ b. 30 m Q ¢ 15mil d.5mQ
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Q16) If 75 x 1020 electrons pass through a resistor of 5 Q in 10 min., the
average current passing through the resistor 1s:
a.05A b. 1A ¢ 15A d2A
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Q17) Ifthe cross-sectional area of conductor is doubled and the electrons drift
velocity is decreased to its half value, the current I passing through the

conductor:
a. Increases to 4- folds b. Decreases to one fourth
¢. Remains constant d. Doubled
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Q18In the Figure, a current of 2A passes between the

points @ and b. The potential difference between 100 Q
aand b is: 2100 Q W— b
a. 300V b. 600 V —W 1o

c. 150V d 75V —\WW—
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Q19) Ampere's law states that:
a. $ E.dA = Qin/Eo b. $E.dA = poQin
c.$B.dl=pol d. §B.dl = 1/po
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